Math 1

Practice Quiz

Solve each equation.

) |-2+x|=5
3) [n-5|=3
5) |2x-2| =14

7) |8n+8] =72

Solve each inequality.

n

9) || >4

1) |n+6]>12

13) |6-4x| <14

15) |4 +2n| <24

Name

6) |-5x-10] =5

8) |6n-9] =33

10) |-7m| =35

12) [n-6]>15

14) [4x-2| =14

16) |2x - 6] <20

Date




Math 1
Practice Quiz
Solve each equation.
) |-2+x|=5

7. -3}

3) [n-5|=3
8,2}

N

5) |2x-2| =1
18, -]

[\

7) |8n+8] =7
8, -10

Solve each inequality.

9) |Z| >4
n>8orn<-8
1) |n+6]>12

n>6orn<-18

13) |6-4x| <14

-2<x<5

15) |4 +2n| <24
-14<n<10

Name

2) |x-3]=3

6) |-5x-10] =5
-3,-1]

8) |6n-9] =33
{7, -4}
10) |-7m| =35

m<-5orm=z=5

12) [n-6]>15

n>2lorn<-9

14) [4x-2| =14

-3=<x<4

16) |2x - 6] <20
-7<x<13

Date




